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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE/IGCSE (9-1) History
0470 /0977 and Cambridge O Level History 2147, and to show how different levels of candidates’ performance (high,
middle or low) relate to the subject’s curriculum and assessment objectives.

In this booklet, candidate responses have been chosen from March 2020 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers, where relevant.

This document provides illustrative examples of candidate work with some examiner commentary. These help
teachers assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in
some circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

0470 March 2020 Question Paper 12

0470 March 2020 Paper 12 Mark Scheme

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 1

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- or low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in

the right-hand column are the examiner comments.

Example Candidate Response — Question 5, high Examiner comments

Question Part

Sepdion AL tore (onteak

) The candidate identifies that
- H)a)_] - mﬂ-——“\ﬂéf@:\m- o )
_P“‘S 5)&\ Tt ooy OC S€uton_doalk witn Totkay, Greece and ltaly gained land

p)é,owus&% _ YKL THeoXk ______%\___.SQ,_}!_,CUM_!E,)/ hod Jwct Aosd from Turkey in the Treaty of
Sévres. Bulgaria is not a valid

10 (el .o TxalBadl Rol onda. Alosg. i gk Tudke identification
L L0kk_ofher m\Om&MLostJom&a anol MOLO ool ; ’
ool The Turkdon Emleize wias 'Inmkz.j_f\_u G\._.I\)f)/lﬂé/__)i%% ‘ e This is a valid identification.

|
wieh_duvieled 1nto \oc\h‘i’}\,‘l’u\awn-M MMO(QZ}A,.._EZDE:(EH&E

RS “""""‘ Tt ataak ok 40 aaad_woo ]_”u | @ This reduction of the Turkish
he fun ead rontvolled lo;l; g _NL>_whld&_6#@de_g_;: armed forces is a fourth valid
nbanX thak thoy wolld be” nwa_lay Bivked s oad BFrasze, \
_Addinoaaliy, %n . Treakn of Sje\/ru 1k Loe_dieidesd#had  Examiner comments are
| TothoaZs_goomtd_Accce wilors odio e Limieclad it i alongside the answers. These
- \_TM_.AJ;LMA@&_QA explain where and why marks
Answers are by real candidates in exam conditions. ) were awarded. This helps you ||
These show you the types of answers for each level. to interpret the standard of
Discuss and analyse the answers with your learners in Cambridge exams so you can
\the classroom to improve their skills. J help your learners to refine

\their exam technique. J

How the candidate could have improved their answer

* (@) The answer started well with some specific details identified, including the names of countries that gained land.
The answer became more generalised, referring to ‘other colonies’ and ‘these areas’, rather than identifying which
specific colonies or areas of Turkey had been affected. At other points, the response was broadly correct, but the
details given were inaccurate. For example, Turkey lost control of its finances as stated, but these were overseen

by the Allies rather than the League of Nations.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question
(a)

» There was some confusion shown between the Treaty of Sevres and the Treaties of Lausanne or Versailles.
» Some candidates did not recognise the Treaty of Sévres and left their answer blank.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.
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Question 5

Example Candidate Response — high

Examiner comments

Question  Part
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0 The candidate identifies that
Greece and Italy gained land
from Turkey in the Treaty of
Seévres. Bulgaria is not a valid
identification.

@ This is a valid identification.

e The reduction of the Turkish
armed forces is a fourth valid
identification.

Mark for (a) = 4 out of 4

o The first two sentences identify
a term of the Treaty of Versailles
(the War Guilt Clause), and state
the reason why it was unpopular
in Germany.
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Example Candidate Response - high, continued

Examiner comments

Question
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e The ‘damaging impact’ of the

War Guilt Clause is explained,
relating the signing of this
unpopular clause to the political
effect on the Weimar Government.
Support for this explanation is
provided when the candidate
refers to the ‘November Criminals’.

@ A second impact of the Treaty

of Versailles is identified, linking
the terms of the treaty to the anger
of the right-wing extremists.

@ The candidate has provided

support for the rise of extremism
and provides specific examples
such as the Kapp Putsch.

© In this final sentence, the

candidate concludes their
explanation of how the Treaty is
used by the extremists to cause a
damaging political impact. This is
the second explanation.

Mark for (b) = 6 out of 6
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Example Candidate Response — high, continued

Examiner comments
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© This is an identification of
a term of the Treaty which
supports the initial statement that
Clemenceau was happy.

@ The implications of the
demilitarised zone for France are
an explanation of why this term
would make Clemenceau happy.

m The military restrictions on
Germany are identified as a
second reason for Clemenceau’s
happiness.

@ The initial identification is
supported by examples of the
military restrictions, and the
results of these are explained with
reference to France for a second
explanation.

@ The candidate provides an
explanation on the other side
of the argument, making this a
balanced answer. The formation of
the League of Nations is stated as
a reason for Wilson’s happiness,
and why this would make him
happy, resolving disputes, is also
provided.

@ This is a repetition of earlier
points.
Mark for (c) = 7 out of 10

Total mark awarded =
17 out of 20
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How the candidate could have improved their answer

.

(a) The answer started well with some specific details identified, including the names of countries that gained
land. The answer became more generalised, referring to ‘other colonies’ and ‘these areas’, rather than identifying
which specific colonies or areas of Turkey had been affected. At other points, the response was broadly correct,
but some of the details given were inaccurate. For example, Turkey lost control of its finances as stated, but these
were overseen by the Allies rather than the League of Nations. The candidate provided sufficient valid points to be
awarded full marks for this part of the question.

(b) The War Guilt Clause was identified as a hated aspect of the Treaty of Versailles, but this point could have
been explained further. The phrase ‘hence it caused a damaging political impact’, was not an explanation of the
impact that signing the Treaty of Versailles had on the Weimar Government. This was provided at the end of the
paragraph where it was made clear that signing the Treaty had a negative effect on the Weimar Government,
supported by the use of phrases such as ‘November Criminals’ and ‘cowards’. The second explanation was clearly
supported, linking the rise of right-wing extremism to the Treaty of Versailles, with contextual knowledge used to
provide examples and show the political impact.

(c) This answer started well, with two clear explanations of why Clemenceau was happy with the Treaty of
Versailles. Both of these explanations were supported by specific details from the Treaty and showed how France
benefitted from the terms. The third explanation was an attempt to provide a balanced answer, considering the
formation of the League of Nations as a reason for Wilson’s happiness. This was rewarded as an explanation but
was not as well supported as the two earlier points. The explanation would have been more secure by relating

it to Wilson’s desire to ensure peace. In the final paragraph, the candidate attempted to compare the relative
happiness of Clemenceau and Wilson. The points made about Clemenceau repeated ideas credited in the first

two paragraphs that the Treaty of Versailles achieved a ‘weakened Germany’. The reasons given for Wilson’s
unhappiness were generalised statements. The conclusion would have benefitted from making a direct comparison
between Clemenceau and Wilson, for example, by comparing their different viewpoints of a ‘weakened Germany’.
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Example Candidate Response — middle

Examiner comments

Question
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0 This answer starts with a valid
identification of the Turkish loss of
control over Iraq. There are two
further valid and specific terms
of the Treaty, the independence
of Armenia, and the Dardanelles
Strait becoming an international
waterway. There is a final general
statement about the treatment
of Turkey stating that the Empire
was broken up.

Mark for (a) = 4 out of 4

e The signing of the Treaty of
Versailles is identified as a reason
for the unpopularity of the Weimar
Government.

e The candidate explains
the negative impact of the signing
of the Treaty on the new
government, leading to them
being referred to as the
‘November Criminals’.
Mark for (b) = 4 out of 6

o One of Clemenceau’s aims, a
‘harsh treaty’, is identified.

10
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Example Candidate Response — middle, continued Examiner comments

Question ~ Part 6 This is an identification of one
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J o v , "} | draws them together into an
explanation of relative happiness.
Mark for (c) = 4 out of 10

e This is an explanation of why

Total mark awarded =
12 out of 20

How the candidate could have improved their answer

+ (a) This was a good answer in which four specific terms of the Treaty of Sévres were clearly stated.

* (b) Only one explanation was attempted in this answer and a second was necessary for the response to achieve
Level 4. The ‘damaging political impact’ explained was that signing the Treaty resulted in the unpopularity of the
Weimar Government, but this could have been made clearer, perhaps as a simple statement at the beginning of
the paragraph. The narrative in the central section provided some support for this idea by introducing the concepts
of the ‘stab in the back’ and the ‘November Criminals’. The candidate continued with the idea of why the German
public were unhappy, points that were not relevant, as the question asked about the political impact of the Treaty.

* (c) While attempting a balanced answer, the candidate only provided one argument on each side, which was not
sufficient to reach the higher marks within Level 3, or to reach Level 4. The first main paragraph was a series of
statements which either stated what Clemenceau wanted, or what was decided in the Treaty of Versailles. This
paragraph did not examine why these points would have made Clemenceau happy, for example, by explaining
their impact on Germany. Without this, the answer could not be rewarded in Level 3. The candidate’s knowledge of
the Treaty of Versailles was good, but it needed to be used to support arguments linked directly to the question.
The paragraph on Wilson is credited as an explanation because it linked Wilson’s idealism to the League of
Nations and self-determination. A more secure explanation would have established what Wilson'’s ideals were and
shown how the creation of the League and establishment of self-determination achieved those ideals. In the
concluding paragraph, the candidate provided another identification of Clemenceau’s unhappiness, but did not
evaluate the relative happiness of Clemenceau and Wilson.

1"
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Example Candidate Response —
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Examiner comments

@ This is a valid identification of
the reduction of the Turkish armed
forces.

9 The candidate makes a second
valid identification.

e This is historically inaccurate.
Mark for (a) = 2 out of 4

O Aninvalid statement.

e These introductory sentences
describe the aims of the Big
Three, without focusing on the
impact of the Treaty on Germany.

e This is a general statement
without specific contextual
support.

0 The candidate identifies that
Germany had to accept the
blame and pay reparations. Other
identifications follow but they are
not explained.
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Example Candidate Response —

Question  Part

Example Candidate Responses — Paper 1

low, continued
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Examiner comments

e This point is not developed
to include contextual support or
explanation.

Mark for (b) = 3 out of 6

e Incorrect identification of
Wilson as Churchill.

@ This introduction does not
address the question.

m The candidate identifies one
of Clemenceau’s aims from the
Treaty of Versalilles.

@ Clemenceau’s aim of revenge
is identified.

@ Areason for Clemenceau’s
happiness is identified.
Mark for (c) = 3 out of 10

Total mark awarded =
8 out of 20
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Example Candidate Responses — Paper 1

How the candidate could have improved their answer

(a) The candidate provided two general points which were credited, but could have included specific details of
the Treaty of Sévres. For example, rather than writing that “Turkey lost most of its war troops’, the response could
have added that ‘the army was limited to 50,700’ or ‘Turkey was banned from having an air force’. Similarly, the
reference to ‘“Turkey lost its land’ could have included details such as ‘Turkey lost land to Greece’, or ‘Turkey lost
control of Palestine’. The description of why the Treaty was not signed was not historically accurate and was not
relevant to the question which asked about how Turkey was treated.

(b) This answer lacked focus. The question asked about the political impact on Germany, and so the general
description of the aims of the Big Three was not necessary. The list of the terms of the Treaty was accurate but, to
be relevant, needed to be linked to their impact on Germany. The candidate attempted this at the end, referring to
both economic and political impacts, but these were not explained. One way that the candidate could have done
this was by linking the terms of the Treaty to the rise of right-wing extremism, referring to the Kapp Putsch as an
example of a political impact.

(c) The candidate described the aims of Wilson and Clemenceau and stated what they wanted to achieve. A
more effective approach would have been to concentrate on their reactions to the Treaty after its signing. Two
of Clemenceau’s aims, ‘to make Germany pay’ and ‘to seek revenge’, were stated. To improve the response,
the candidate could have considered to what extent they were achieved, and whether this would have made
Clemenceau happy. For example, the economic terms of the Treaty, such as the reparations and the loss of
important industrial land would have been an acceptable explanation for Clemenceau’s happiness that he had
made Germany pay.

Common mistakes candidates made in this question

(a)

(c)

There was some confusion shown between the Treaty of Sévres and the Treaties of Lausanne or Versailles.
Some candidates did not recognise the Treaty of Sévres and left their answer blank.
Some of the answers were too long, impacting timing for the other answers.

Answers sometimes lacked specific details, such as the exact numbers allowed in the armed forces, or the names
of areas lost by Turkey in the Treaty.

Some responses listed the terms of the Treaty but did not make links to their political impact on Germany.

Some answers explained the economic impact on Germany, such as the hyperinflation crisis, rather than the
political impact.

Some candidates explained why Germany hated the Treaty, rather than the political impact of that hatred.

Some candidates described the aims of the two leaders, rather than considering whether they were achieved.

A number of responses listed the terms of the Treaty, rather than including consideration of how these made
Clemenceau or Wilson feel.

Some considered Lloyd George’s reaction to the Treaty which was not relevant to this question.

In order to achieve Level 5 a comparison to evaluate the relative happiness of Clemenceau and Wilson was
required. However, many responses treated Clemenceau and Wilson separately.
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Example Candidate Responses — Paper 1

Question 6

Example Candidate Response — high Examiner comments
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Q There are four relevant points
made in this answer: The League
acted over the dispute between

while, Mo curel population voted to_be tnder Poland and Germany; there was
Polond . The League frctesefully obweded \per | | areferendum; the League divided
Sedasio. hekoeun  Poland oxd Cm-e,l‘mw Rt crdos Upper Silesia; and the League’s
aconted Mo \—emc N dlu.&tow‘L decision was accepted by Poland

and Germany.
: Mark for (a) = 4 out of 4

b
& | (b) e Le.:? dko:é,:pk ack  deicirets, oo Q cledisiivebyl | @) Ageneral statement is made
: oqaingt Tratiy for unvaoling Abw«tu Wl without specific details on the
\—Lm,u el Szla-&sue, a,m\z_alwl‘m o league, Abyssinian crisis.

Hm, E o ndemned Loty - Teoly coos ouked +o_

15



Example Candidate Responses — Paper 1

Example Candidate Response — high, continued

Examiner comments
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e Some background description
of the invasion is followed by the
identification of a reason why
Haile Selassie was unhappy; the
lack of League power.

e The candidate identifies that
Haile Selassie was unhappy
because the coal and oil trade
were not banned.

e In the following section, the
candidate provides several
examples of reasons why Britain
and France were reluctant to act.

@ The candidate concludes the
section about Britain and France
by stating why their actions made
Haile Selassie unhappy. This is
the first explanation.

0 The Hoare-Laval Pact is
identified and described.

@ The second explanation is
achieved when the candidate
explains how the Hoare-Laval
Pact made Haile Selassie feel
that the League had ‘betrayed
Abyssinia’.

Mark for (b) = 6 out of 6
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Example Candidate Response — high, continued

Example Candidate Responses — Paper 1

Examiner comments

Question

Part
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e The candidate identifies that
the League improved living
conditions.

@ Contextual support is given
on the work of the Slavery
Commission to provide an
explanation of how the League
helped working conditions.

m The Refugees Committee is
identified as a success. Examples
are given of its work and the
overall extent of its success is
explained.

@ Specific contextual knowledge
is not provided to support the
identification of the success of the
International Labour Organisation.

@ The Health Organisation is
identified as a success.
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Example Candidate Response — high, continued
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Part
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Examiner comments

@ Contextual support is given to
explain the success of the Health
Organisation. This is the third
explanation on one side.

@ The failure of the League in
Manchuria is explained here, with
contextual support showing that
it was slow to act. This is the first
explanation on the other side.

@ Further examples are given to
support why the League failed in
Manchuria. This is a development
of the original explanation.

@ The response does not
address the ‘how far’ element of
the question.

Mark for (c) = 8 out of 10

Total mark awarded =
18 out of 20

How the candidate could have improved their answer

(a) This was a concise and effective answer that accurately described the League’s response to the problems in
Upper Silesia.
(b) At first, the answer appeared to be very descriptive, without focus on Haile Selassie. The reasons for his
unhappiness could have been made clearer from the start of the answer. Good knowledge of the events was
shown in the description, but the answer could have been more succinct. Contextual knowledge was linked to two
reasons for Haile Selassie’s unhappiness towards the end of the answer and so two explanations were credited.

(c) This was a balanced answer with two good explanations provided for the success of the League’s humanitarian

agencies. These were balanced with a developed explanation of its failure in Manchuria, moving the answer
into Level 4 for a third explanation. In order to reach Level 5, the candidate needed to evaluate the relative
humanitarian success of the League compared to the failure over the Japanese invasion. This could have been
achieved, for example, by considering the long-term political and social effects of the League’s actions. This was
stated by the candidate at the end of their answer, but with no support or argument provided.
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Example Candidate Response — middle Examiner comments
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ﬂ This is the first relevant point
identifying the countries involved.

e The candidate states the action
that the League of Nations took.

e This describes what the
League of Nations did as a result
of the plebiscite.

o The candidate describes
the results of the League’s
intervention.

Mark for (a) = 4 out of 4

e This is a valid general reason
for Haile Selassie’s unhappiness,
but, at this stage in the answer, is
without contextual support.

@ The general statement showing
why Haile Selassie was unhappy
is followed by contextual support
specific to the Abyssinian crisis.

0 The candidate brings together
the previous points to explain that,
rather than taking action, Britain
and France acted independently
of the League. This links with their
initial statement as to why Haile
Selassie was unhappy.
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Example Candidate Response — middle, continued Examiner comments
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Example Candidate Response — middle, continued Examiner comments
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@ Specific contextual support,
such as who and where, is not
provided.

@ An impact on the League of the
failure in Manchuria is identified.

@ The candidate supports their
identification with some contextual
knowledge.

@ An explanation is given to show
how the League’s failure damaged
its reputation and the impact on
future events.

Mark for (c) = 4 out of 10

Total mark awarded =
12 out of 20
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How the candidate could have improved their answer

* (a) The candidate described the reaction of the League of Nations well and displayed a good level of knowledge.
The description of the plebiscite was unnecessary, since the question asked about the actions of the League of
Nations.

« (b) An explanation was provided to support the candidate’s initial statement that Haile Selassie was unhappy
as a result of Britain and France acting independently of the League, but a second explicit explanation was not
provided. The answer displayed a good level of knowledge but could have been better organised into two discrete
explanations. Some of the isolated identifications made by the candidate, such as the League refusing to condemn
Italy or take military action, could have been brought together to support an explanation of Selassie’s unhappiness
that the League were reluctant to take decisive action against Italy.

* (c) This answer displayed a reasonable knowledge of the League’s humanitarian work, but detail was needed to
support these general points. For example, when reference was made to the Health Organisation’s ‘research on
different medicines and diseases’, leprosy and malaria could have been identified. Similarly, the success of the
International Labour Organisation could have been explained through reference to the removal of white lead from
paint. The impact of the League’s failure was explained more successfully, with some support in the conclusion for
the argument that the League’s response to the invasion of Manchuria weakened its position as a peace-maker.
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Example Candidate Response — low
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Examiner comments

0 This description of the League
of Nations does not answer the
question.

e No specific points on the
dispute in Upper Silesia are
provided by the candidate.
Mark for (a) = 0 out of 4

e Areason is identified for why
the League did not prevent the
Italian invasion.

o A second reason for Haile
Selassie’s unhappiness is
identified.

Mark for (b) = 2 out of 6
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Example Candidate Response — low, continued Examiner comments

6o (¢ The Ju.a'm bod__ o, oumbr 6} rommiffpes ik commissions fo
Lprokeck He ivinodhe ool digracndkr sitvakionsin_
: counlvies: T M_ﬂ_g_cg@ s ot Suq,_gé_".{&___;“»!\.__&o_lyfm..,él}firﬁ
alﬁfl\-""?l‘” foXt  weve  fnes  pbkew Mad gn:}}om ad_ woll-
T Jipents! pmesson Gt Masschorle wac e © This is a general statement
| hody oo lo X @—“fﬁ—e fobare  Jepen ewas _ine dupente without specific contextual
hed g tesores  pad W_W_Jw__fr%__. Degrssiony knowledge.

opim decided  do  nvade  Mandesdid  n,  lapd in Chip
ddh v ninerel ol glovidwey  pufcienti: They shaged dh]
Mulden Qi ayIncdent  opd Wv.,e,mf___ﬁ;tamw,__”
WLMwaj it Manihoks. ___ fan fauM o greak Upror
e Cheren ,_ud _ Hhoo o(e?me oas_ Ynabtle fo
Ftone. P e  peseye- Drivain _and Fronce  Shing ohy |

shvugged it Pk and cond___fhe  doague  was__unable
to__ack funthec 08 fug (odded  soppat fom #e| | (@) The candidate identifies that
Supelpowers 2 wee e louge oyeoperer o dbe the League’s failure in Manchuria

Lwortds The  dooauel sopport  confimed _fo dropiin numbers | had an impact on its reputation.

1on_ Y olbor kaml,. e doa pote 3 ‘lgumu‘u and,
. foc .

Comapalters et & (acpte _$ucctll G e —worldy) | @) The candidate identifies that

such st Ponzig Comrision  and  Refupe Omnlistil | ihe Refugees Committee and
The  Hoeadtv  (ovamiiree worked coonders ag__ wlls 0_ the Health Organisation were

Lty _prevenked _ tonp lacking Aampge, 40 frn  world. ' successful.
I f 4 (g _
In  Gndogon, Mo foAgue.  red it faic _share gy | | Markfor(c) =3 outof 10
successes__prod  benofitted e world  in 1«-’5% anqpuns - Total mark awarded =
< . !
Ll prevented ._Mmoumvm_q;_am&}«_~ Srnall Jispuken 5 out of 20
havt o pobenkal & _Jun lm»{/m Howevor i

commot  be.  donied  thode  fhe Japesese. _invasion df |
‘ Manchup caused __ an wd b e degpue Y
N ﬁmd‘iON‘n"

23



Example Candidate Responses — Paper 1

How the candidate could have improved their answer

» (a) References made to the League of Nations and its work were generalised, and the answer lacked details of its
actions over the Upper Silesia dispute. For example, the phrase ‘the countries were at an agreement’ would have
been accepted if Poland and Germany had been named, or if it was stated that they had agreed to abide by the
results of the referendum.

» (b) The candidate identified a reason why the League of Nations failed through the lack of support from the
USA, but the statements about Soviet Russia and collective security were general and unsupported. There was
an attempt to link the answer to the specific question by mentioning Haile Selassie’s unhappiness, but this was
followed by the historically inaccurate statement that he did not deploy his own troops. Acceptable support for the
point that his trust in the League was misplaced could have included the Hoare-Laval Pact, or the ineffectiveness
of the sanctions imposed by the League. The reference to the reactions of the rest of the world was not relevant to
the question which was about Haile Selassie’s reaction.

* (c) This answer identified and described some relevant issues and was therefore credited in Level 2. Some
knowledge of the events in Manchuria was shown, with mention of how Britain and France ‘shrugged it off’. This
reference to the inaction of Britain and France could have been developed to show how it encouraged dictators
such as Mussolini. The humanitarian agencies of the League of Nations were identified, but support was required,
for example who and how the Refugee Organisation helped, to explain how they succeeded.

Common mistakes candidates made in this question
(a)

» Some candidates were confused between the events in Upper Silesia and the Saar plebiscite.
« Some answers described the events rather than the actions of the League of Nations.

» Some general descriptions of the aims of the League of Nations were seen instead of detailed knowledge on the
dispute in the question.

« Often there was a lack of focus on Haile Selassie, with candidates describing the effect of the failure on the
League’s reputation instead.

« Some candidates wrote general descriptions of the failure of the League without specific reference to Abyssinia.

» Some responses would have benefitted from being more effectively organised into two clear and supported
explanations of reasons for Haile Selassie’s unhappiness.

* A number of candidates described the invasion of Manchuria, rather than explaining the impact of the League’s
failure.

« Some responses were unbalanced and concentrated on one aspect of the question, particularly the humanitarian
work.

« Concluding paragraphs often repeated statements made earlier in the answer, rather than providing genuine
evaluation.
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Question 11

Example Candidate Response — high

Examiner comments
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ﬂ The date of the Munich
Putsch, Hitler’s role in it and its
aim to overthrow the Weimar
Government are all identified in
the first sentence.

e The candidate identifies that
Hitler declared that the Bavarian
Government was deposed.
Mark for (a) = 4 out of 4
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Example Candidate Response — high, continued
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Examiner comments

e The Depression as a cause of
problems in Germany is identified.

e The candidate provides
contextual support to show the
impact of the Depression on
Germany, including the rise in
unemployment.

e The candidate explains
that Hitler promised to solve
the problems, including
unemployment, and that people
‘believed Hitler’. This is an
explanation of increased support.

e Anti-Communism as a reason
to support Hitler is identified, but
without contextual support.

0 The role of propaganda is
identified.

Q Examples of propaganda are
provided and linked to electoral
success for a second explanation.
Mark for (b) = 6 out of 6
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Example Candidate Response — high, continued Examiner comments
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Example Candidate Response — high, continued Examiner comments
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How the candidate could have improved their answer

* (a) This was a detailed description of the events of the Munich Putsch and 4 marks were achieved early in the
answer. The answer could have been more concise allowing more time for the remaining questions.

* (b) The candidate displayed very good knowledge of the situation in Germany 1930-1932 and used this to provide
two explanations for Nazi electoral success. The first focused on the impact of the Depression and the second on
the importance of Nazi propaganda.

* (c) The first explanation regarding the Enabling Act was clearly stated, well supported, and concluded that
it allowed Hitler ‘to become a virtual dictator’. The second explanation to create a balanced answer was less
convincing, with a more narrative approach. The discussion of the effect of the ‘Night of the Long Knives’ could
have been more explicit, for example, by clarifying that it allowed Hitler to remove potential opposition from both
within and outside the Nazi Party. The rest of the answer was not relevant since it examined factors outside the
terms of the question. It was necessary to focus on the two events named in the question.
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Example Candidate Response — middle Examiner comments
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0 The candidate describes
many features of the Munich
Putsch including the role of Hitler,
Ludendorff’s support, disrupting
a meeting of the Weimar
Government, and Ludendorff’s
arrest.

Mark for (a) = 4 out of 4

e The role of Goebbels as
propaganda minister is identified
as a reason for Nazi success.

e The role of the propaganda
campaign is explained, with
specific contextual support.

e Further reasons for Nazi
electoral success are identified
including negative cohesion,
Hitler's speaking ability and the
25 Point Programme. These do
not have contextual support and
their link to electoral success is
not explained.

Mark for (b) = 4 out of 6

e A reason for the ‘Night of the
Long Knives’ is identified.

@ Contextual support is provided.

0 The candidate explains how
the ‘Night of the Long Knives’
enabled Hitler to consolidate his
power through the removal of
opposition.
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Example Candidate Response — middle, continued Examiner comments
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Mark for (c) = 5 out of 10

Total mark awarded =
13 out of 20

How the candidate could have improved their answer

* (a) The candidate described at least four events connected to the Munich Putsch. There was an error with regard
to Bulgaria, but further description ensured that all four marks were achieved.

* (b) In the first explanation, the candidate attempted to show that the role of Goebbels allowed the Nazis ‘to
flourish’. Support was provided for this statement, but the argument would have been more convincing if the
candidate had explained how propaganda had led to electoral success. Several identifications followed, including
Hitler’s oratorical skills and the 25 Point Programme. Both were valid, but support should have been provided to
explain how they increased Nazi support.

* (c¢) The answer started with a convincing explanation of the importance of the ‘Night of the Long Knives’. It was
directly linked to the removal of opposition and the nature of the opposition was stated. A balanced answer was
achieved with the second supported explanation of how the Enabling Act meant that ‘no one could stop him’. The
answer needed to include a third explanation on either side in order to achieve Level 4, for example, by explaining
that the ‘Night of the Long Knives’ also helped Hitler to win the support of the army.
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Example Candidate Response — low Examiner comments
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Total mark awarded =
7 out of 20
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How the candidate could have improved their answer
* (@) The description of the Munich Putsch provided sufficient features to achieve full marks. Hitler’s role in the
Munich Putsch and the shooting and deaths of Nazis were described along with the role of Ludendorff.

* (b) This answer misinterpreted the question and was focused on the use of terror in the period after Hitler became
Chancellor in 1933. Particular care and attention should have been given to any dates included in the question to
ensure that the answer was relevant to the question.

» (c) The candidate correctly identified that Hitler was able to remove people he didn’t trust through the ‘Night of the
Long Knives’, but did not explain why the SA were not trusted, or what Hitler achieved through their deaths. Other
generalised statements followed, for example, ‘this incident made everyone support Hitler’, rather than more
specific knowledge such as gaining the support of the army. There was no attempt to address the Enabling Act
which was necessary to achieve a balanced answer.

Common mistakes candidates made in this question
(a)

* A number of responses wrote about the background and results of the Putsch which were not relevant to the
question.

« Some candidates wrote overly long answers which limited the time available for other questions.

(b)

» Some answers lacked focus on the dates given in the question, instead referring to reasons which were only valid
after Hitler became Chancellor.

+ Some candidates described valid reasons but did not provide an explanation by linking them to Nazi electoral
growth.

(c)
» Some responses confused the events of the ‘Night of the Long Knives’ and Kristallnacht.

» This question stated the two reasons to be examined. Some candidates provided explanations for other ways that
Hitler consolidated his power and these could not be credited.

» Some candidates described the given events rather than explaining how they helped Hitler to consolidate his
power.
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